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Important Instructions for the Candidates :

1.

This Test Booklet contains 50 questions printed in English and
Hindi. Out of these, the candidate is required to answer any
40 questions. If a candidate answers more than 40 questions,
the first 40 answered questions will be considered for
evaluation.

When you are given the OMR Answer Sheet, fill in your
particulars on it carefully with blue/black ball point pen only.
Use only Blue/Black Ball Point Pen for marking responses.
The CODE for this Test Booklet is C. Make sure that the
CODE printed on the OMR Answer Sheet is the same as that
on this Test Booklet. Also ensure that your Test Booklet No.
and OMR Answer Sheet No. are exactly the same. In case of
discrepancy, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test
Booklet and the OMR Answer Sheet. No claim in this regard
will be entertained after five minutes from the start of the
examination.

Before attempting the question paper kindly check that this
Test Booklet has total 28 pages and OMR Answer Sheet
consists of one sheet. At the start of the examination within
first five minutes, candidates are advised to ensure that all
pages of Test Booklet and OMR Answer Sheet are properly
printed and they are not damaged in any manner.

Each question has four answer options. Out of these four
options choose the MOST APPROPRIATE OPTION and
darken/blacken the corresponding circle on the OMR Answer
Sheet with a Blue/Black Ball Point Pen.

Five (5) marks will be given for each correct answer. One (1)
mark will be deducted for each incorrect answer. If more than
one circle is found darkened/blackened for a question, then it
will be considered as an incorrect answer. Unanswered
questions will be given no mark. P.TO.
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307 EH (New)/C (2)

1.  The ability of the environment to absorb and render removal of harmless waste and pollution is referred to

as:

(1) source function of ecosystem
(2) sink function of ecosystem

(3) carrying capacity of ecosystem

(4) optimal capacity of ecosystem

2. Which of the following "water storage" types are commonly used in Bihar ?
(A) Bhundhis (B) Ahar
(C) Kulhs (D) Pynes

Choose the correct answer from the options given below :
(1) (A) and (C) only (2) (B) and (D) only
(3) (A)and (B) only (4) (C)and (D) only

3.  The diversity of organisms that shares the same community/habitat is called as

(1) Beta diversity (2) Gamma diversity
(3) Alpha diversity (4) Genetic diversity

4.  Which of the following is not a basic pillar of sustainable development ?
(1) Environmental preservation (2) Social equity

(3) Economic growth (4) Urbanisation

5. Which of the following is a Kharif crop ?
(1) Wheat (2) Rice
(3) Cucumber (4) Mustard

6.  The concept of Joint Forest Management does not include :
(1) Government works closer with local people to manage forests.
(2) Locals use forest resources in response to protecting forest ecosystem.
(3) The infrastructure development at the cost of forest resources.

(4) Sustainable conservation of forests.
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307 EH (New)/C (4)
7. Which of the following is the main characteristic of perpetual resources ?
(1) Consumption at very fast rate (2) Continuous availability at limited rate

(3) Unconditional availability (4) Not formed naturally

8.  Arrange the following radiation in increasing order of their wavelength :
(A) UV-C
(B) UV-B
(C) UV-A
(D) Infra-red
(E) Microwave
Choose the correct answer from the options given below :
(1) (C), (B), (A), (D), (E) 2) (A), (B), (O), (B), (D)
(3) (A), (B), (C), (D), (E) @ (B), (D), (©), (B), (A)

9. A bee-keeper in an orchard enables pollination and fertilisation of the orchards’ shrubs and trees. This is an

example of
(1) negative production externalities (2) negative consumption externalities
(3) positive production externalities (4) positive consumption externalities

10. Arrange the atmospheric layers starting from the Earth’s surface upwards :
(A) Mesosphere
(B) Stratosphere
(C) Stratopause
(D) Mesopause
(E) Troposphere
Choose the correct answer from the options given below :
(1) (B, (C), (B), (D), (A) () (E), (C), (B), (A), (D)
(3) (E), (B), (C), (A), (D) 4 (E), (B), (O), (D), (A)
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7.

10.

fffiad o & -1 qrad SeTeET i 7 o g 2

(1) &gd o L E @ud (2) diftra gt o fRaR Suetsear
(3) foraT 31t Suetsrar (4) TR 9§ A& S
fforfaa farfomeott i el qTeed o g §U FH § SHaieerd &l :

) T

(B) Feft-&ft

(C) Fdtg

(D) ¥ath

(E) QewadT

=t fe e forepeat # € wE S g

(1) (C), (B), (A), (D), (E) (2) (A), (B), (©), (E), (D)
(3) (A), (B), (C), (D), (E) (4) (E), (D), (C), (B), (A)

e STl 5 U YA OTeTe HTAT ST USl o AT 3 = 1 &7 a1 § | I8
IR |

(1) THRIcHS IcATE SISt (2) TThTIcH: STHIT STRraTet

(3) THNICHS ITET STRIATSTI (4) TR ITHIT STRIATS

AT Al bl Jeeft 31 e § Y& ek S shl I ST Y Fafeerd L

(A) wegHEA

(B) @HATIHSA

(C) Hwa Hmr

(D) =& 9T

(E) &rvHsa

et fow T forhedt # @ wET I I :

(1) (E), (C), (B), (D), (A) (2) (E), (C), (B), (A), (D)
(3 (E), (B), (C), (A), (D) 4 (E), (B), (O), (D), (A)

g2k
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307 EH (New)/C (6)

11.

12.

13.

Which of the following is associated with Ozone destruction in Stratosphere ?

(A) CFCs

(B) Polar stratospheric clouds

(©) UV-B

(D) UV-A

(E) Clradicals

Choose the correct answer from the options given below :

(1) (A) and (E) only (2) (A), (B) and (E) only

(3) (A), (C)and (D) only 4) (A), (B), (C) and (E) only

Which of the following are examples of resources ?

(A) Materials (B) Energy

(C) Knowledge (D) Services

Choose the correct answer from the options given below :

(1) (A)and (D) only (2) (A), (B) and (D) only
(3) (A), (B) and (C) only 4 (A), (B),(C) and (D)

Which of the following treaty prohibits the import of any hazardous waste (including radioactive waste)
into African nations only ?

(1) The Basel Convention (2) The Capetown Convention
(3) The Bamako Convention (4) The Madagascar Convention

Read the following passage and answer the next five questions :

Agricultural runoff, sewage and industrial effluents are major causes of deterioration of water quality in
lakes and ponds. Productivity of lakes and ponds (for example algal bloom and phytoplankton bloom)
increases manifold due to agricultural runoff as well as due to excess inputs of nutrients including limiting
nutrients, but this continuous increased productivity leads to death of lakes and ponds. The dissolved
oxygen, BOD, temperature, turbidity and salinity are important parameters of water quality in a lake and
change naturally on day and night basis as well as seasonal basis. But, anthropogenic inputs change these
parameters abruptly and adversely impact water quality of the lakes. As a result, water in lakes and ponds
does not remain fit for human consumption as well as for livestock. Immediate attention and affirmative

actions are needed to protect lakes and ponds in our environment.
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11.

12.

13.

ffafed o & FH-o1 aHaTHes § AN &fd 8 ST g 8 2
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(B) el qudTaHSHA T sieet

(C) Fehsht

(D) Tt

(E) Cl tehed (YT)
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(1) ST FHagH (2) T HUTST FHagH

(3) STHTR FAIE (4) BSTTRER FHagH
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FIY STuETE, aTfed At SR e SR S SR qes o et i qurEdt § FRae 1 57 HR0T € | HY
STIETE 3 TTY-ETer W et wfed diveh dwat & sifafee e & HRor st o arerst (e & for e
TEFS R TRTAT (FIEEIde) Io) i IcqTeehal 3 AT a6 S &, AT 36 it Jgdt Scameshal %
R Fe TR AT 4 81 A @ | TR staeisr, .32, aome, Jam (e S qau sia 3
STt T TUTeT o HEeEqUl ATae € SR fom ofi T o wrer-aTer ST e o SR W ot yrehfes §9 & 9ead 2
AR, HIEISTA o2 §7 HIHehi shl 3Tk STaet ad & HAIT Hell o St shi Ul shi Sfciehet &9 & JTferd shed
& | eftSre, St 3R TS & STet Wi T o BB TR o for +ft 3ok e TEa @ | N vt §
AT ST AT oh EET o FoTq AehTer €A1 o S HhTIHa HaH 3BT ohl STARIHAT ¢ |
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14.

15.

16.

17.

18.

Continuous increase of productivity of lakes eventually causes :
(1) Biomagnification in lakes

(2) Bioaccumulation in lakes

(3) Eutrophication in lakes

(4) Bioconcentration in lakes

Dissolved oxygen in water

(1) remains constant in winter and summer
(2) remains low in winter and high in summer
(3) remains high in winter and low in summer

(4) doesn't depend on temperature of water

Excess suspended particles in lake water due to agricultural runoff result in :
(1) high salinity.

(2) high turbidity.

(3) high dissolved oxygen.

(4) high BOD.

Water in lakes having very high algal and phytoplankton growth is expected to have :
(1) high dissolved oxygen.

(2) high dissolved oxygen and high BOD.
(3) low dissolved oxygen and high BOD.

(4) low dissolved oxygen and low BOD.

Which of the following is a limiting nutrient in lakes and ponds ?
(1) Iron (2) Phosphorus

(3) Magnesium (4) Sulphur
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14.

15.

16.

17.

18.

et Y ScaTaehar § it gfg sfad: swror adt @ -
(1) 3t & s (S srmad)
IR EEEER

(3) it & ZZfOheRer (guroT)
ORISR ECR U

Tt 3 ererefiet st |

(1) aféat i i 7 feor wedt 8

() wiéar# fe it it d sea e @

(3) afdat# seu i it & e e @

(4) it 3 aroET o feft 72 wdt ®

Y TIATE o T SIS oh T H STATR FHeAford FHolt oh TROTHEEY :
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19.

20.

21.

22.

23.

Read the following passage and answer the next five questions :

Species interaction and the productivity are two important components of any given ecosystem. In an
ecosystem, interspecific interactions arise from the interaction of population of two different species. Such
interactions could be beneficial to both species, harmful to both species, beneficial to one and harmful to
other or vice-versa. There are also cases that exist where only one species is harmed or benefitted and the
other remains unaffected. On the other hand, productivity of an ecosystem starts with photosynthesis by
green plants and is measured as amount of biomass produced over a period of time. Such biomass becomes
available for consumption to heterotrophs.

The available biomass for consumption to herbivores and decomposers is often referred to as :
(1) Primary production

(2) Gross primary productivity

(3) Net primary productivity

(4) Secondary productivity

Rate of production of organic matter during photosynthesis is referred to as :
(1) Primary production (2) Gross primary productivity
(3) Net primary productivity (4) Standing crop

Which of the following are correct for the interaction between sea anemone that has stinging tentacles and

clown fish ?

(1) Both species are benefitted

(2) Both are harmed

(3) One is harmed and the other is benefitted

(4) One is benefitted and the other remains unaffected

The species interaction in which both interacting species are harmed is referred to as :
(1) Predation (2) Parasitism

(3) Competition (4) Mutualism

Mycorrhizal association between fungi and the roots of higher plants is best referred to as :
(1) Commensalism (2) Amensalism

(3) Mutualism (4) Competition
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19.

20.

21.

22,

23.
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(STHTE) BEUSTH o ST o foTT SUeTstr & ST # |

TTRTRTIET 3 STTEHT % STHIT % TIT JUTot] ATHR (AATHTE) Tl STHET FHaT FIAT L :
(1) wrafies 3

(2) T TTATH ScqTeshdm

(3) & ST Jeqrashar

(4) Tacirres Searaerar

TERTIT TSINOT o SR ShTel(eh TaTeT o ScqTe hi &t b HET ST & |
(1) Srfies Iaare (2) Thet Tften Sedteshar
(3) & ST Jcqrashar (4) @I HEA

frefctRad o & i |1 e "aHE T e = aTel 9] & STR ST Hoel| o offel sl ST=ATsRaT" 3T Hel

A HAT § 2

(1) ST SSITfeEt Aye gt 2

(2) T SSTfoRT T JHEH B 2

(3) T SITTTcl shi TR TE=ITAT SITAT & 371 g8 T ST T STl 2|
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srmTferlt st o foram fore 2T e fora s areft seferlt st JoreT age 7, i wafifd for ST R
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(3) vt (4) wRrTRE

ook 3 ST I <hl STST o oo ATSehIgsTel Hoiel shl Teldl 3= €9 | FET TR |
(1) T (2) ARSI TLSHHferaT (Amensalism)

(3) W (4) Tt
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24, Match List-I with List-II :
List-1 List-I1
(Author) (Book/Poem)
(A) Gary Snyder () Mountains and Rivers Without End
(B) Wendell Berry (I) The Closing Circle
(C) Rachel Carson (II) Silent Spring
(D) Barry Commoner (IV) A Place on Earth

25.

Choose the correct answer from the options given below :
() (A)-(@V), (B) - (D, (C) - (I, (D) - (D)
2) (A)- D, (B)-1V),(C) - (D), (D) - (IT)
(3) (A)- (D, (B) - (IV), (C) - (1D, (D) - (D)
(4) (A)-1V), (B) - 1I), (C) - (1), (D) - (I)

Match List-I with List-II :

List-I
(Concept)

List-11
(Proposed by)

(A) Ecology

(I)  Norman Myers

(B) Ecosystem

(IT) Ernst Haeckel

(C) Human population growth

(II) Sir Arthur Tansley

(D) Hot spots

(IV) T R Malthus

Choose the correct answer from the options given below :
(1 A)- D, B) - 1V), (C) - (1), (D) - (1)
2 (A)- D, (B)- 1D, (C) - (IID), (D) - (IV)
(3) (A)- (I, (B) - (), (C) - (IV), (D) - (1)
@ (A)-V), (B) - (D, (C) - (1), (D) - (D)
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24. G-I %1 GA-11 % A1 e e

-1 11
(TTIF) (TEAEH/hICIT)
(A) =R ()  ue-eH u-e fiad foemee U (Mountains and Rivers
Without End)
(B) dsaadt (1) € FeAfSAT "fdhet (The Closing Circle)
(C) = Fr (1) wTEce & (Silent Spring)
(D) S FER (IV) 3 =8 AT 39 (A Place on Earth)
=t fe e forepeat # € wE ST

(1) (A)-(1V), (B) - (D), (C) - (1), (D) - (IT)

@) (A)- D, (B)-AV), (C) - (), (D) - (II)

() (A)- D), (B) - (IV), (C) - (I1D), (D) - (I)

@ (A)-1V), (B) - (ID), (C) - (I1D), (D) - (T)
25. G-I %1 FA-11 % A1 et ot

a1 TE-11

(YT (ST TEATie)
(A) it () A
(B) wrfeurfaeht d= () o ket
(C) WM SEEA | ghg (II) | 3R A
(D) EeEwie (IV) & SR oo™
e fa o forepedt & @ welt ST g

(1) (A)- @, (B) - (1V), (C) - (ID), (D) - (III)
(2) (A)- (@, (B)- I, (C) - (1), (D) - (IV)
() (A)- (1), (B) - (1), (C) - (IV), (D) - ()
(4) (A)-(1V), (B) - (1), (C) - (D), (D) - (IT)
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26. The ecological thought, which believes in saving the forests as trees give oxygen, better rainfall and air

quality and not saving the environmnet for its true innate values, dominantly belongs to
(1) Deep ecology

(2) Social ecology

(3) Eco-feminism

(4) Shallow ecology

27.  Which of the following is not a major goal of WWF ?
(1) To conserve world biological diversity
(2) Sustainable use of renewable natural resources
(3) Reduction of pollution and wasteful consumption

(4) Creating world wide fund for education

28. The first Earth Day was celebrated on
(1) 20 April, 1970
(2) 22 April, 1970
(3) 05 June, 1970
(4) 20 April, 1972

29. The plants and animals that cannot maintain a constant internal environment, are called :
(1) Regulators
(2) Migraters
(3) Conformers

(4) Suspenders

30. The number of individuals of the same species that have come into a habitat from elsewhere during the

time period under consideration is referred to as
(1) Emigration

(2) Immigration

(3) Natality

(4) Mortality
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26.

27.

28.

29.

30.

aftfeerfoss formm, S StTet t = # foarame st @ Riifen U SATafism, Sgat a1 Ay 3t ot Y Hd &
HI GG T I ATEA oo SqsIid qedl o T S= 3 1 T8 HLdl, @ &9 § Ffailad § & frad
e e 2

(1) e arireerfeht

(2) TR TRt

(3) uriRfad-ariarE

(4) o urfeferfeht

frefafad & & H-81 S5cy S5c,T%. (WWF) 31 i d @& 787 8 2
(1) T i Siferer farfereran s geqor s

(2) FAREOT STehfceh TETEHT 3T Tda)/SRuf ST

(3) QuUT 3R 57l ohl el H HHT

(4) farer o foru forg-zaedt s =t fomtor

g gealt fea| T HTT TIAT <7 |
(1) 2037, 1970
(2) 223, 1970
(3) 053, 1970
(4) 2031, 1972

o 4T R SR ST Ueh ST ST e STdreor shl SFTT 2] T Fehd €, 378 Shal ST @
(1) =

(2) ST

(3) IUTTH

(4) Frctemerat

foamuef o7afr & A Tw & ySa o afRa h dEar S sl R ¥ e we § e ?, W
F &Y H Heifd frar Srar? |

(1) Seqamd
(2) SATIETET
(3) SHEX
4) TER
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31. Which of the following statements are correct ?
(A) Species that invade a bare area are called as pioneer species.
(B) In primary succession on rocks, the pioneers are usually lichens.
(C) In primary succession in water, the pioneers are reed swamps.
(D) In secondary succession, species that invade depend on condition of soil, water and environment.
Choose the correct answer from the options given below :
(1) (A), (B) and (D) only
(2) (A), (B) and (C) only
(3) (A), (B), (C) and (D)
(4) (B), (C) and (D) only

32. Match List-I with List-II :

List-1 List-11

(State) (National Park)
(A) Madhya Pradesh (I)  Namdapha National Park
(B) Arunachal Pradesh (II)  Guindy National Park
(C) Meghalaya (III) Nokrek National Park
(D) Tamil Nadu (IV) Kuno National Park

Choose the correct answer from the options given below :
(1) (A)-AV), (B) - @), (C) - (IID), (D) - (IT)
(2) (A)-1V), (B) - ), (C) - (D), (D) - ()
(3) (A)-AV), (B)- D), (C) - (ID), (D) - (IIT)
@) @A) -®D, B)-1V), (C) - (D), (D) - (I1I)
33.  Which of the following soil has high water retention capacity ?

(1) Sandy soil (2) Loamy soil
(3) Sandy silt soil (4) Clayey soil
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31. Frefafed § & FH-8 FeA ad € 2
(A) STV TR STTEHHUT et STt SIS 26T 3TOY (F SF=oIeh) STIfT el ST 2 |
(B) SIS o SIToIfifef STIHHUT H, STIEA (T ST STTHAN T TATgH 81 ¢ |
(C) 9Tt T STeAfirer STISHHOT H, S (YT HATH) TFH 0ae Bl & |
(D) Tecfiren STTprmwT 5, STTshHUT G ATt STt e, Stet S qartarer ot feufa o it et €
=t few e ferehedt H & HE S -
(1) e (A), (B) 3T (D)

(2) A (A), (B) 3R (C)
(3) (A), (B), (C) ¥R (D)
(4) *ad (B), (C) 3R (D)

32, EEA-1 1 Feil-11 o a1 e &1

-1 Teit-11

(=) (T FET)
(A) "YW (I) TS T T
(B) TUEE Ya¥T (1) T Ui 3a
(C) TuTe (I11) rehieh TS 3T
(D) dfrerTg (IV) AT T 3
et fow g forheat 7 @ weT ST I :

(1) (A)-(AV), (B)- (D), (C) - (I, (D) - (IT)
) (A)- V), (B)- (1), (C) - (IT), (D) - (T)
(3) (A)- V), (B) - (D), (C) - (I, (D) - (1IT)
@ (A)- (D, (B)-(1V), (C) - (II), (D) - (TIT)
33. fr=ferfaa § & for firdh o S st wfremor emar a2 2
(1) et fugh (2) @mefug
(3) iegs TITe I fargh (4) Forpedt gt
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34. Which of the following factors can affect the soil respiration process ?
(A) Temperature
(B) Soil moisture
(C) Aeration
(D) Number of soil microbes
(E) Quality of organic matter in the soil
Choose the correct answer from the options given below :
(1) (A), (C)and (E) only (2) (A), (B), (C) and (D) only
(3) (B), (C) and (D) only 4 (A, B),(C), (D) and (E)
35. Which of the following is mot a criteria air pollutant under the National Ambient Air Quality

Standards (NAAQS) ?
(1) CO, (2) CO

(3) Oy (4) Pb
36. The disease "Itai-Itai" is caused by contamination of drinking water with which of the following ?

(1) Mercury (2) Cadmium
(3) Arsenic (4) Chromium

37. Which of the following are essentially required for photochemical smog formation in ambient atmosphere ?
(1) Smoke, water vapour and low temperature (< 25 degree)

(2) NO,, SO, and high temperature (> 25 degree)
(3) NO,, VOCs and high temperature (> 25 degree)

(4) Smoke, NO, and low temperature (< 25 degree)

38. Arrange the following stages of primary succession of plants from last stage to first stage :

(A) Reed-swamp stage (B) Submerged plant stage
(C) Marsh Meadow stage (D) Phytoplankton
Choose the correct answer from the options given below :

1 (A), B), (O), (D) 2 (O, (A),(B), (D)

(3) (D). (B),(A), (©) 4 (A, (©),(B), (D)
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34.

35.

36.

37.

38.

frafeRa & & -9 ek et g8 SfsRa st JuTfad o aehd & 2
(A) TR

(B) TaT T 3Tt

(C) =mgfErzT ()

(D) HaT o GEHSiIa sh §edm

(E) &1 SAforeh qareif shl Jureret

e fow e foreped o & et ST AT

(1) haet (A), (C) 3 (E) (2) 9 (A), (B), (C) 3 (D)

(3) = (B), (C) ¥R (D) 4 (A), (B), (C), (D) 3 (E)

freforfiad & & s-a1 Tedier aitarei ATy ToTeT HIehi (TF.0T. 39, TH. ) o ded Ueh Wi a1 e T8 © ?
(1) Co, (2) CO

(3) O, (4) Pb

"geTE-5TS" ATHek T Frfetfiad o & forerdt gfira i o ot @ 8l 8 2

(1) 9RT (2) Fefirm

(3) oTEfH (4) shiftm

et arged & YehT-TErEie o s o forg fefafed § & we-ar stfram w9 & sevaeE @ 2
(1) g, ST T 3 HA qrad (< 25 el

(2) NO,, SO,, 3R I== qaH (> 25 et

(3) NO,, VOCs, 3 3== amodH (> 25 el

(4) 9=, NO, , 3T A amodH (< 25 el

ST o STATHe STRHUT o TTRAT <IXull ohT SiTere SIRUT | UEel TIRUT qeh SAaieerd o ;

(A) TFA-geed =0 (B) SITHH UTeY HATEAT

(C) TACet =T =T (D) RIS (BT IATF)
e fog e oo & @ Wt ST T

() (A), (B), (C), (D) 2) (C), (A), (B), (D)

(3) (D), (B), (A), (C) ) (A),(C), (B), (D)
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39. Match List-I with List-IT :

List-1 List-I1

(Forest Act/Policy) (Year)
(A) Forest Act O 1927
(B) National Forest Policy (II) 1988
(C) Forest Conservation Act (I1) 1980
(D) Wildlife Protection Act (Iv) 1972

Choose the correct answer from the options given below :
(1 A)- D, ®B) -1, (C) - (1D, (D) - (IV)
(2) (A)- D, (B) - (1), (C) - (D), (D) - (IV)
(3) (A)-1V), (B) - (I, (C) - (11D, (D) - (1)
(4) (A)- ), (B) - (1), (C) - (D), (D) - (IV)

40. Arrange the following from lowest to highest dry weight in a biomass pyramid of a grassland ecosystem :
(A) Primary Producer
(B) Primary Consumer
(C) Secondary Consumer
(D) Tertiary Consumer
Choose the correct answer from the options given below :
(1) (A), (B), (C), (D) @ (A),(C), (B), (D)
(3) (D), (©), (B), (A) 4 (D), (C), (A), (B)

41. "Curitiba", a city in Brazil, is famouly known for its
(1) organic farming practices
(2) water network projects implementation
(3) integrated transport network system

(4) solid waste disposal system
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39.

40.

41.

-1 T F-11 o @1 foret o
-1 -1
(@ srfarfem/Aife) @)
(A) o AR @0 1927
(B) U@ aTHfifa ) 1988
(C) o TXeqor Afaf=m (1) 1980
(D) IISiia TReqor ATty (V) 1972
et fow T forshedt # @ weT ST I :

(1 A)- D, ®) -, (C) - (1D, (D) - (IV)
(2) (A)- D, (B) - (1), (C) - (D), (D) - (IV)
(3) (A)- V), (B) - (ID), (C) - (IID), (D) - (D)
4 (A)- I, (B) - (1), (C) - (D), (D) - (IV)

T °E % AqH qTifEerfaehl o5 o Ster (s foafte § Fefafad w5t e @ ssaad n ose |

Safted i ;

(A) TTITHe IcaTEH

(B) STufires UM

(OREGIREE LI

(D) ek TRt

it fow T forspedt # @ wEl ST I :

(1) (A), (B), (O), (D) (2) (A), (O), (B), (D)
(3) (D), (C), (B), (A) 4) (D), (©), (A), (B)

"epTferaT, SIS ShT U T, EARERICEA
(1) Siferer @t o adtent

(2) e ATk URAISHTIST o AT

(3) TEhIohd qNEE eash Jore!

(4) 3\ ATy e yomeft
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42,

43.

44,

45.

46.

47.

Which of the following gases give the lowest percentage contribution to total global warming ?
(1) N,0 (2) NO,

(3) CFCs (4) CHy
Nomadic movements are not considered as migrations because people move from one place to another

(1) for economic reasons (2) for social factors

(3) without any intention (4) for phyical reasons

Which of the following does not explain the relationship between human development and economic

development ?

(1) Capability expansion through economic growth
(2) Capability expansion through poverty reduction
(3) Capability expansion through social services

(4) Capability expansion through environmental degradation

The Gandhian economy model does not contain elements of
(1) multiplication of needs (2) rejection of class-war

3 rotectionism 4) nationalism
p

Which of the following method is most suitable for safe disposal of hospital solid waste ?
(1) Dumping (2) Incineration

(3) Pyrolysis (4) Composting

Arrange the following processes from start to end in a food distribution system :
(A) Packaging of food (B) Processing of food

(C) Storage of food (D) Marketing of food
Choose the correct answer from the options given below:

1 (A), B), (C), (D) 2 (©),B), (A), (D)

(3 (A), (B), (D), (C) @ (O, (B), (D), (A)
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42,

43.

44.

45.

46.

47.

fforfad & & -6 19 et TetrereT ot H et i TTaTd ATaT adl & 2

(1) N,O (2) NO,
(3) CFCs (4) CH,

ST FEIet1/EATCROT 2T FaTH el HHT ST & Ffeh AT Ueh T H qHL T T EIcEL
(1) ool o & (2) WM et & foag

(3) fomfrftsme® (4) s Fron o

frferiad & & a1 g foehma it i forshme & sfier weier i AT T st 8 2
(1) 3 e & aTeem | o foa

(2) TS Y 3 e @ ear for

(3) ETHTSTeR DTSt & HTEH § &THdT faed

(4) AT &TC0T 3 TTEAH &7 fod

TTefiardt steferawen Aied § Tl el S T 2 |

(1) STTaRIHAT T T (2) g Y TR
(3) AT (4) TsgaTE

ST o STARTE o GLerd Fer o forg fFefafed & & i € oy a8 s ¢ 2
(1) i (2) W

(3) TT9-3TTEH (TETARE) (4) FFNEET

e foraror yorrett & frforfiaa SToramatl ol 91 & Sia ook saafeerd e :

(A) T fessmsidt (B) Wl THEHTT

(C) @ Hery (D) @Te vaTet ot foraue
=t fa e forepeat # € wE S T

(1) (A), (B), (C), (D) 2) (©),(B),(A), (D)
(3) (A), (B), (D), (C) 4 (©), (B), (D), (A)
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48. Which one of the following is an incorrect statement in the context of Gross Domestic Product (GDP) ?
(1) GDP does not measure the sustainability of growth.
(2) GDP helps to undersatnd whether economy is growing or contracting.
(3) GDP reflects annual trends of inflation and prices of commodities.

(4) GDP helps to understand shift in the annual changes in the country's economy.

49. Match List-I with List-II :

List-I List-11

(Protocol/Convention) (Year)
(A) Kyoto Protocol D 1987
(B) Montreal Protocol an 1997
(C) Bamako Convention (III) 1989
(D) Basel Convention (IV) 1998

Choose the correct answer from the options given below :
(1) (A)- V), (B) - (D, (C) - (1), (D) - (II)
() (A)-(1V), (B)- D), (C) - (D), (D) - (IN)
(3) (A)- ([, (B)-(1IV),(C) - (D), (D) - (IN)
) (A)- (D, (B) - (1), (C) - AV), (D) - (II)

50. Petroleum present in sedimentary rocks of a region can only be used when such regions are drilled out and
put into use. Such petroleum reserves fall under the category of

(1) Actual resources
(2) Potential resources
(3) Stock resources

(4) Reserve resources
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48.

49.

50.

e HLe] 3caTe (S, o wal o fforfiaa 5 @ S-a1 e e @ 2

(1) S Erd). foepme i feerar 1 72 Ao 21

(2) TS, 30 T i @ifohd FT H 7EE AT 8 foh srefeaeer 9 @ 8 1 fage @i el
(3) S, gerehifa S et i fimat % arfifr =i gt )

(4) ST, e At srefeuawer § arfies Uiad-1 # siaetTd T T H Hee idT 2

Feft-1 1 TA-11 o 91 foret L

Tt Sl

(STETeRTET/ERvavT) @)
(A) T TR 1) 1987
(B) ifrgaret Wit (1) 1997
(C) STHTRI FHraTH (1) 1989
(D) &EA HATH (IV) 1998
et fow g forhedt 7 € wET ST I :

(1) (A)-AV), (B) - (1), (C) - (I1), (D) - (11

(2) (A)-aV), (B)- (@), (C)- ), (D) - (1)

(3) (A)- @, (B)-(1V),(C)- ), (D) - (1)

(4) (A)- D, (B)- D), (C)-1V), (D) - (1)

Topelt &t ShT STaraTeT Trg | Ugiferem oht Sufufa st ST shaer avfi foram ST dehdT ® 99 39 0% & & @ fgo
ToRaIT ST ® STR ST § AT SITAT 2 36 L8 o USIToTaH SR 36 A0 § 37 &

(1) arEafaes gamed

(2) GuTfera daTe

(3) YSR (&ieh) GHTg

(4) ARfaT gared

SPACE FOR ROUGH WORK / T% S o feTu S8



307 EH (New)/C (26)
SPACE FOR ROUGH WORK

T® T & oo srg



307 EH (New)/C (27)
SPACE FOR ROUGH WORK

T® T & oo srg



307 EH (New)/C (28)

Read carefully the following instructions : fAeferiaa A<y &t Lq A A T2 :

8. No candidate will be allowed to leave the OMR Answer 8. ,E %ﬁqﬁm&ﬁaﬁaﬁ@w ST T fich SIS AT )
Sheet blank. If any OMR Answer Sheet is found blank, it T T | AT HE ALTALAR, ST TF Nk TR S &, qr
shall be crossed by the Invigilator with his/her signature, Friereh 30 S71.UW. 3R, ST 9=k i hid B 30 W 7 forg
mentioning “Cancelled” on it. T 37T AT L S/ |

9. Do not tear or fold any page of the Test Booklet and OMR |- qfa. T g ﬁﬁ@wwwa; el off I8 T A Al
Answer Sheet. HE AT AL |

10. Candidates are advised to ensure that they fill the correct 10. Al H'T\_rlﬁ; &5 3w \’& Eﬁf% Fa !
particulars on the OMR Answer Sheet, i.e., Application No., ﬁ@w WW AN 3 gg'ng’T > N
Roll No., Test Booklet No., Name, Mother’s Name, Father’s | 3T, 3TJshuieh, T{ieior qRkdenl ST, I, AT i 4, foar
Name and Signature. T AT ST AT Hell-wifd TR |

11. In case of any discrepancy in any question between English 1. ) Wﬁ’ e Sl . / e
and Hindi/Regional language version, the English version %ﬁ HIIa # =g m/w g ﬁ\'*ﬁ dfd o 38 3 %
will be considered as the final version for evaluation. HUST ST 1 2 ST W 5T AT fohaT ST |

12. Rough work is to be done in the space provided for this 12 W& EFrafqg&TﬂT > A fere few e i
purpose in the Test Booklet only. .E”—"T ' ] e N

13. I T qeAT Foidglieh ShT TToRAT & HTeaH o foram

13. The answers will be evaluated through electronic scanning STQT | 3790t 37 7oA Safedt 317,09, 3TR, 3T 0T &l S
process. Incomplete or incorrect entries may render the Eh‘(?l‘eh‘rﬁ%j
OMR Answer Sheet invalid. . .

14. et ont gere 2 STt B T o o1 0. 3TR, ST W 7 1S,

14. Candidates are advised not to fold or make any stray marks AT T H IW W A IEiSd g =g | ghen % dRE
on the OMR Answer Sheet. Use of Eraser, Nail, Blade, R, T RIE2 FAZE/RTZEA
White Fluid/Whitener, etc., to smudge, scratch or damage in ;ﬁgwrw Wﬁtﬂg 3ﬁ 7 =T, N
any manner the OMR Answer Sheet during examination is kdl . T, T 3T, I W1 T fofef it b
strictly prohibited. Candidature and OMR Answer Sheet of oS, T, AT I3 & Bl 2, Jied aroid § | $R, T,
candidates using Eraser, Nail, Blade or White SAE IT SE1EE KISS/SRTEET I h1 TEAHT HT 31T 3R,
EA;:%\QVE;?:;:JS smudge, scratch or damage in any manner I U T TR atE T e, @i, a1 s et qg%lﬁ e

' wlentiiat i enafdar (Figen) R Ik A TH.AR. W

15. There will be one copy of OMR Answer Sheet i.e., the ek 3Rl T ST T St |
Original Copy. After the examination is over, the ca_m_jidate 15. 37109, 3TR, I U5 T U Ufd, o7efq uer uhy & anft | wder
shall hand_ over the OMR Answer Sheet to the Invigilator. 21 9T T el 390, 39 T e F g
The candidate can take away the Test Booklet after the E, <
examination is over. If the candidate does not hand over the | e I o ae wereS WWW O |1 ST
OMR Answer Sheet to the Invigilator and goes away with Tond § | afe wemeff Num.n. S v e & T
the OMR Answer Sheet, his/her candidature shall be Higar & o 3ﬁ‘1'q3TlT I EF ot 379 G & T AT ST
gggfﬁslieﬁi rﬁ/nhde r.crlmmall proceedings shall also be initiated 2 ar & srfT T f 3 3T &

FHriaTet off 37 o & STt |

16. Candidates are advised strictly not to carry handkerchief, any | 1. gfierfofar s geire <t STt & for o g # 379+ a1y ®97a,
mobile phone, any type of watch, belt or wear ornaments et fopafi oy STROT
like ring, chain, ear-ring, etc., electronic or communication aﬁé qﬁ:{ o aﬁ‘q?ﬁ T A IR R il
device, pen, pencil, eraser, sharpener and correction fluid to T SIS, T, HIE HO-SYTU AT, FeAR IR AT TR
the Examination Centre. If any candidate is found possessing JUHT, ﬁ? YT, 31, IR AT RSESRERERIC]
any such item, he/she will not be allowed to enter the AR ST | arfe fomelt oft alereft & urer et 1S gﬁawq-gw
examination centre. Possession of a mobile phone or any st Er«mﬁr St qfraa'r
other aiding material as mentioned above by the candidate in 8, 71 3 e F A # N ! bk
the examination room will be treated as a serious violation  wltereff < ure SwE tﬁaﬁa I AT THT 1S TETh g
and it may lead to cancellation of the candidature and e W 38 TR SecEa T S, e sw adeeff #r
debarring him/her from future examinations. Aefdiar & & aY-ary 3 wret wderedt § faafsia forar

17. If a candidate violates any instructions or shows any ST HeFAT ¢ | . }
indiscipline or mishehaviour, appropriate action will be [17. Ifg wteqreff aa:lés T 9Tel el LT 2, a7 foreft Jehr ot
taken including cancellation of candidature and debarring FEER AT SHQ'ITFI:T%‘ﬁ?IT veffa ar ®, EREGd AT,
from future examinations. Rt s 1 Frea S st ol @ fafi we

18. Use of electronic/manual calculator is not allowed. R l\ilEv &, SIS | !

18. FRIEI-oh/A3T Shedheled o TN ol STwfd T&i 8 |




